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COMMERCE
Paper — 11
Note : This paper contains fifty (50) objective type questions of two (2) marks each. All
questions are compulsory.

1. Who is the fiscal agent and advisor to 4.  Uruguay Round pertains to
Government in  monetary and (A) WTO
financial matters ?

(A) NABARD (B) IMF

(B) SBI (C) GATT

(C) RBI (D) World Bank

(D) None of the above

2. Match the items of List — | with the 5. Which of the following are outside
items of List— 11 the scope of the Consumer Protection
List—1 List— 11
Act, 1986 ?
(a) National (i) Industrial )
Manufactu- Licensing (A)  Newspaper industry
nng Policy (B) Services  provided  under
Competitive- contract of personal service
ness Council
(NMCC) (C) Banking industry
(b) National (II) Eleventh Five (D) Both (A) and (B)
Investment Year Plan
Fund (NIP)

(c) The (i) The 6.  Which of the following is ‘true’
Industries Competition regarding the Prudence Principle of
(Develop- Act, 2002 o
ment and Accounting “

Regulation) (A) Taking care of the future losses
f‘;;l(lDRA)’ (B) Taking care of the future

(d) Increase in  (iv) Public Sector profits
Employment Undertakings (C) Taking care of bad debts

Codes : . .
D) Taking care of inventory and
(_a) (t-)) (9) (d) v deprecgiation ’

(A) (v) (i) (i) (i)

(B) (i) (v) () (i)

(([:)) (i) @) (i) (iv) 7. Which of the following is a non-

(B) (v) iy (i) (1) operating expense ?

3. Kyoto Protocol pertains to (A) Salary of Managing Director

(A) Capital formulation (B) Depreciation

(B) Globalisation . .

(C) Environmental protection (C) Advertisement expenditure

(D) Unemployment reduction (D) Interest on loan

Paper-I1 2 D-08-13
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10.

11.

A and B are partners sharing profits
in the ratio of 3 : 2. Their books
showed goodwill at ¥ 3,000. C is

admitted with %th share of profits and

brings ¥ 10,000 as his capital. But he

is not able to bring in cash for his

share of goodwill ¥ 3,000. How will

you treat this ?

(A) Goodwill is raised by ¥ 12,000

(B) C will remain as debtor for
¥ 3,000

(C) C’s Alc. is debited for ¥ 3,000

(D) Goodwill is raised by % 9,000

If there is mutual indebtedness
between the transferor company and
the transferee company in business
combination, which of the following
is correct ?

(A) No adjustment is required in
the books of the transferor
company.

(B) Adjustment is required in the
books of the transferor
company.

(C) No adjustment is required in
the books of the transferee
company.

(D) None of the above

Improvement of profit-volume ratio
can be done by

(A) Increasing selling price

(B) Altering sales mixture

(C) Reducing variable cost

(D) All of the above

Business Economics is a subject which

(A) studies economic relationships

(B) studies economic activities at
the aggregate level

(C) deals with the tools of
economics used for decision
making in business

(D) studies optimum allocation of
limited resources

Paper-11

12.

13.

14.

Match List — I with List — Il and
select the correct code for the answer :
List—1 List— 11
(@) Cross (i) Price=AVC
elasticity is
zero
(b) Shut-down  (ii) Two
point commodities
are
independent
(c) Slutsky (iii) Trans-
theorem formation line
(d) Production (iv) Substitution
Possibility effect
Curve
Codes :

@ (0 © (@

@ (i) @v) @ (i)

(B) (i) (i) (v) ()

© () (i) (i) (iv)

(D) (i) () (v) (i)

Assertion (A): The demand curve
has negative slope showing
inverse relationship between

price. and the quantity
demanded.

Reason (R) : This applies only to
Giffen goods.

Codes :

(A) Both (A) and (R) are true.

(B) (A) is true, but (R) is false.
(C) (A)is false, but (R) is true.
(D) Both (A) and (R) are false.

The consumer is said to be in
equilibrium when he plans his
expenditure on x, y and z
commodities in such a way that he
ultimately attains :
(A) MU, = MU, =M,

MU, MU, MU
B) 5 =5 = p

X y z
MU, MU, MU,

C = = = MU

© 75 =7p, "7, m

MU, MUy MU,
(D) P < p <p <MU_

X y z
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11.

A 3T B OERR & 3 3 : 2 % 7 |

AN dfed & | SR S@T T 3,000

I A & | C ol o & 1/4 e &

Y g fear S & R '

10,000 ST YST % &Y H AT E |

W] g€ 1T T 3000 F A T &

o g &1 o Urar € | o7 9 |

TR T 2

(A) =g ®H TEA B TG W
% 12,000 F A @R |

(B) C ¥ 3,000 % ford ot W& |

(C) C % @ Hf T 3000 & ford S
F G S e |

(D) T @ THT A TG F T 9,000
FIAE |

T FIHE TASE H IAdRds HEAT

qT AR FAT % S IR RS R0T-

UL €, *eteiiad 9 9 991 9l € 2

(A) aRds HEA H AEAr H Hd
GHESH oh! 9Tl Tl & |

(B) ofaRas®s WAt w  dfedr H
TS bl ATE9IHAT € |

(C) ofaRdt %o = afedl § fopdl
GHESH ! SE9Thdl Tl & |

(D) S H § T el |

AT YT § GuR FEfetEd &

FRT foRaT ST Thell &

(A) fohl ®ma 9 gfg

(B) ookt fosott =Bt Sge

(C) uRedeTet TIRTd i HH HEAT

(D) < et

I ST i 39 o o &7 H

R foham ST & ST

(A) 2k G 1 ST Fl § |

(B) onfues widfafemi 1 3% TEU
T T 3TeATH FAE |

(C) =au™ ¥ M & fau uge
TR & SN T ¢ |

(D) <A TETEAT % SFHeTaH 3TEe
T 3T HIAT |
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12.

13.

14.

g — | B g — |1 % 9 gAfed ]
3R I & Tel e il IIT
= - | = -
(a) wfTelr= I € (i) HHd = AVC
(b) 3R &I S (i) I AL
fog A &
(c) ToeEh Wi (jii) TUERT @
(d) s (iv) A=
[T dsh T
T4
@ () (© ()
(A) (i) (iv) (i) (i)
(B) (i) (i) (iv) (i)
(€ () (i) (i) (iv)
(D) @) @) (v) (i)
AMHYT (A) (T T B FOMHS
TAM el & S iEa q9r G T
HET o S Tidelel §eey g2t & |
FROT(R) :T€ o paod “fiie
TEIA” T AN Bt & |
T
(A) (A) R (R)IHT TF T |
(B) (A) T &, W (R) TTAT |
(C) (A) 3§ R (R)TAE |
(D) (A) 3R (R) THT 3T & |

ST i T | I Sl & S

TE X, y A z T3 W A =TT Hf

TS 39 WbR S € o6 a8 st
VT SRl ¢

(A) MU =MU, =M,

MU, MU, MU

B) 5 =5 = p.

X y z

MU, MU, MU

© 5 =7 =

X y z

MU, MU, MU,
(D) P < p <p <MU,,

X y z

=MU,,

Paper-I11



15. Match the items in List — | with those 18. A distribution, where the value of
in List — 11 and select the correct code arithmetic mean is maximum as
for the answer : compared to median and mode, is

List— 1 List—11 (A) Normal distribution
() Monopoly (i) Price Taker (B) Positively-skewed distribution
(b) Monopolistic (ii) Homo- (C) Negatively-skewed distribution
Competltlon geneous (D) None of these
product’s
... price maker 19. The most appropriate average to be
(c) Perfect (i) Hetero- used to compute the average rate of
competition geneous growth in population is
. . prqduct (A) Arithmetic mean
(d) Oligopoly  (iv)Price (B) Median
Rigidity .
Codes: (©) Harmonic mean
@ 0 © @ |
Eg‘)) (('il)) ((Iilil)) ((ie) 8:3 20. ‘I‘<TheI Iife expect?k?cy tﬁft pe]?p_ll? i_r;
N . : erala is more than that of Tami
Eg)) 813 (83) ((ilili)) ((ili)) (I\/Igju.’[’)This.sta.temﬁ'nt is ar:l example of
escriptive Hypothesis

16. Match the following items in List — | (B) Causal Hypothesis

with most suitable options in List— I : Eg)) ﬁorrela;iohnal tl)—|ypothesis
List— I List— 11 one of the above
(@) Fisher (i) Inverse
probability 21. Match the items of List — I with the
(b) Karl Pearson (ii) Normal items of List — Il and choose the
Distribution correct answer :
(c) Thomas (iii) Correlation List— 1| List—11
Baye’s Coefficient (@) Intrapersonal (i) Informa-
(d) Karl Gauss  (iv) Index communication tion
Numbers sharing
Codes : (b) Elementofa  (ii) Develop-
@ (b) () (d) communication ment of
(A) (iv) (i) (i) () event ‘will” to
Qo
v) Q) A c) Objective of (i) Thinkin
) (v) () @) (i) ()orgjanisational () )

17. :I'he law of statistics, Which_says (d) cGoorzlrglé?lcatlon (iv) Purpose
Moderately large number of items isational
chosen at random from a large group organisationa
possess the characteristics of the communication
large group’, is referred to as : Codes :

(A) The Central Limit Theorem @ (b () (@
(B) The Law of Statistical Regularity (A) () (i) (i) (iv)
(C) The Law of Inertia of Large Egg ((i_i_i)) élVg ((i_i)) ((i))

Numbers 1 i | v
(D) None of the above (D) (iv) (i) (i) ()
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15.

16.

17.

T — | & g - 11 % 9 gafad &

3R IR & Tl HS A =TI L
= - | = - 1

(a) UHHHR (i) PIHd UTdwRdm

(b) USRI (i) TEET I
Afereet T AT

Tt

(c) Uul wiaeret (i) foee Serg

(d) STIFeER  (iv)Hd S

A

(=N

@ () () ()
(A) (i) (i) @) (v)
(B) (@) (i) (v) (i)
(©) (i) (iv) (i) ()
(D) (v) () (i) (i)
gE — | § fefatad = g9 - 11 |
Gty SUgRT fashed o A G o
=it - | =t - 1
(a) TR (i) et e
(b) el TEEA (i) WENT FeA
(C) dmaa|  (jii) TewEy i
d) FETE  (iv)gEEE
%
@ ) () (@)
(A) (iv) (i) (i) ()
(B) (iv) (iii) (i) (i)
(C) (v) (i) (i) ()
(D) (v) (i) () (i)
giferna faw, St edr & a8 998 9@
THE & | 93d 9ERe ®9 9§ T
T W RN W, 95 GHE B (R
Bt & ST SFEeTel § 2
(A) FEE G T
(B) Witz frafaaar &1 fram
(C) gt Femsti ot Afshaar 1 Iy
(D) SUgH | | Hig TEl
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18.

19.

20.

21.

Fe, STET I W T Yod Wi
3T SgeTh I qorT § SAhad &, T
R & 2

(A) IHEH s

(B) &I ¥ ¥ fou s

(C) 0T &Y § faum w2

(D) T 9 HE TRl

gufte § gl & fEd T A URebpo
FE & o gaifys suEm e sH
AT A &

(A) TIoTdr ATe
(B) e

(C) St mTey
(D) =OHs A1y

“HeT T T Sl STiaE WeTen arHerg
H o H R § 1”7 TE FHA hh
IR E 2

(A) TIERUTHSE TRHEIT

(B) S RUTHE TRHI]

(C) TeH=ueh TRbHeI

(D) S H § g el

Tt — | =t T_7 1 e =t — 1 f e
T T T FEl I H I Hid

= - | =it - 11
(a) ofqaafed® (i) g Ste
Howor
(b) TUTOT FEAT H (ji) P FIA B
T ECINIESY
EaRCEar]
(c) WHATHF (i) 7=
57
(d) HeATHH (iv) e
TIET 1 AT
—

(=N

@ (b) () (d)
(A) (1) (i) (i) (iv)
(B) (iii) (iv) (i) (i)
€ () (i) (@) (iv)
(D) (iv) (i) (i) ()
Paper-I11



22.

23.

24,

25.

According to the Boston Consulting
Group, a business which has a high
growth rate but a weak market share
is referred to as a

(A) Cash Cow

(B) Dog

(C) Question Mark
(D) Star

‘No ideas are ever criticized’ and ‘the
more radical the ideas are the better’
— are the rules of which decision
making process ?

(A) Programmed decision-making

(B) Non-programmed decision

making
(C) Brainstorming
(D) Group discussion

According to McClelland’s Needs
Theory, which of the following is not
a motivating need ?

(A) Need for Power

(B) Need for Security

(C) Need for Achievement
(D) Need for Affiliation

In the managerial grid, developed by
Blake and Mouton, a manager who
has high consideration for production
but little concern for people is known
as

(A) 1.1 Management
(B) 1.9 Management
(C) 9.1 Management
(D) 5.5 Management

Paper-11

26.

27.

28.

29.

30.

Which of the following is not the
major  component of  holistic
marketing ?

(A) Relationship marketing

(B) Integrated marketing

(C) Customer satisfaction

(D) Socially-responsible marketing

Which of the legislations listed

below do not form part of the

marketing environment of India ?

(A) The Drugs and Cosmetics Act,
1940

(B) The Prevention of Food and
Adulteration Act, 1954

(C) The Monopolies and
Restrictive Trade Practices Act,
1969

(D) Both (B) and (C)

The set of all actual and potential
buyers of a product is known as

(A) Customer group
(B) Industry

(C) Market

(D) None of the above

In the model of consumer behaviour
given by Philip Kotler, what
constitutes the marketing stimuli ?

(A) Marketing environment
(B) Four P’s of marketing

(C) Consumer needs and wants
(D) None of the above

The factor that exerts the broadest
and deepest influence on consumer
behaviour is

(A) Culture
(B) Sub-culture
(C) Social class
(D) Income

D-08-13



22.

23.

24,

25.

e HeET 0 F AR Th 3=
fod 8T ool HeNE, W] S

FIR TSR 379 &, T Fed ©
(A) TS

(B) ‘=mr

©

(D) "=

S ST “FramT soreT 37 fomm & S
STRT 37T &7 — I8 (o ura uishar &
e

(A) TSHEE R
(B) TSR MR
(C) 37 =

(D) @wfesh ==

HiReTeTe o SATIshal (95 & STER
FAfRET § ¥ SR Saeaehdl hid
= Tl & 2

(A) T D ETIHAT

(B) T I METIHA

(C) Uy Tt TaTIHl

(D) EE i STETIRAT

A% Td Ale §RT {aehigd Uerushia e
T U Yaueh S 3R & 91 o8
Ty § TR ARl & T HY IR
&, I ST STl &

(A) 1.1 7E

(B) 1.99s™
(C) 9.1 vy

(D) 5.5 W
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26.

27.

28.

29.

30.

Trefetad & & &9 91 T8y oo 6
T Heeh T 2

(A) Ty fauue

(B) T ferqur

(C) e Tt

(D) WIS &9 T ST faauH

T &3 T HEA H F BE G B
YR o foqu aTaraRoT i fEer 6l & 9

(A) 3y ud T A i,
1940

(B) W™ Tuwd eumur  fHERor
JEE, 1954

(C) USSR T Ulda-eTcHE SR
yonterat sitatad, 1969

(D) (B) 3R (C)

3 o U ardiaesh der Eiied
T3t & FHE W T STHAT ST & 2
(A) UES T

(B) 3=

(C) e~

(D) S H | T el

TRl ®leeR 5N o8 T Iqwiet
FAER & UqHH (Aeer) H, fauum
S ST BT € 2

(A) a9 ST

(B) fauvM & 9 ot

(C) UM SR TH EvTHAT

(D) S H | T el

SYH (A é'? Igi¥ 9G¥ HdY ATh QET
e T1E Soi aTell 525 &

(A) TEpia
(B) Su-HEHid
(C) ST &t
(D) &=
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31.

32.

33.

34.

35.

Which one of the following is not
among the assumptions of the
Modigliani-Miller model ?

(A) Perfect capital market

(B) Equivalent risk classes

(C) Unity for dividend payout ratio
(D) Absence of taxes

The most suitable coverage ratio for
deciding the debt capacity of a firm
IS

(A) Interest Coverage Ratio

(B) Cash Flow Coverage Ratio

(C) Debt Service Coverage Ratio
(D) Fixed Assets Coverage Ratio

Which one of the following is the

most popular method for estimating

the cost of equity ?

(A) Capital asset pricing model

(B) Dividend yield method

(C) Gordon’s dividend discount
model

(D) Earnings yield method

Which one of the following is not the

internal factor affecting the weighted

average cost of capital of a firm ?

(A) Investment policy of the firm

(B) Capital structure of the firm

(C) Dividend policy followed

(D) Market risk premium for the
firm

Most common approach for analysing
the capital structure of a firm is

(A) Ratio Analysis

(B) Cash Flow Analysis

(C) Comparative Analysis

(D) Leverage Analysis
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36.

37.

38.

39.

Who propounded “Theory Z” ?
(A) William Quchi

(B) Peter F. Drucker
(C) Joseph H. Jurau
(D) Douglas McGregor

Another name for MATRIX

organisation is

(A) Flexible organisation
(B) Geographic organisation
(C) Project organisation

(D) None of the above

Which of the following are methods
of on-the-job training ?

(i) Coaching

(if)  Vestibule training

(iii) Demonstration

(iv) Role-playing

(v)  Apprenticeship training

Select the right answer from the
following codes :

(A) (), (i), (iii), (iv)

(B) (), (iii), (v)

(C) (i), (i), (iv)

(D) (), (i), (i), (iv), (v)

The idea that a manager tends to be
promoted to the Ilevel of his
incompetence is referred to as

(A) The advancement principle
(B) The Parkinson’s law
(C) The Peter principle
(D) The job design principle
D-08-13



31.

32.

33.

34.

35.

Mg -fHeeit Hiee & AFaren °
freferfad o & ®iT gHTae Tl & 2

(A) Tt T
(B) T i =

(C) THIE AT JTAM ST
(D) I Wt rqureAtd

®H @ T AT & HOE ¥ waitys
ST AN (eIt A &

(A) =S =AM ST

(B) TSI VAT A 3T
(C) kT e &AM ST
(D) TR aRewfd = s

TOAT H AN B MHCH A
fefafad & @ & 9 Faits A
TS € 2

(A) Ui ufcgmfd siga e
Higet

(B) wmiwl-oifey Uit
(C) TS T AT SHelet Higet
(D) SUSH-AAT TFd

®H ® Yl Bl IRA SET TR
oI S Aot STTIeh e i dT
T E 2

(A) w9 =t e Fifd

(B) wH T TSI @

(C)  STg=TT Tt e Aifey

(D) WH I ISR SHREH Wia

T & GSINTT @ T favetuer e

Tafesh g™ 39T &
(A) 3T faetsor
(B) < VAT faetyor
(C) qomreTs fawetor
(D) e fagerToT
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36.

37.

38.

39.

“7 Tagr” fohe wfquted fomar 2
(A) fafem s
(B) X UH, TH
(C) SiEw® ua. S
(D) T HHRUTR

Ao TS &1 3 AW &

(A) T T

(B) imifetsh e

(C) T em

(D) S H | T el
HA-TE-STer wiTeqor =t fafemt fefefad
T BT I T2

(i) it

(i) SEIger ureTeTor

(i) TE¥H

(iv) et g

(v)  Wferege (snifeater) st
TATcRad el | Tel 3T H T F
(A) (i), (i), (iii), (iv)

(B) (i), (iii), (v)

(C) (i), (iii), (iv)

(D) (i), (ii), (iii), (iv), (v)

g foar o Uemae STUAT STERadT %

T T TSI &I ST &, SR Sheetidl

T2

(A) T fagTd
(B) wifea 1
(C) diex fagr

(D) St fesire fagr=
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40. Assertion (A): The emphasis in
industrial ~ psychology  has
shifted from the studies of the
isolated individual and the
physical environment to the
consideration of motivation and
morale.

Reason (R) : A motivated
employee with a high morale

will  always give  high
productivity.
Codes :

(A) Both (A) and (R) are correct,
and (R) is the right explanation
of (A).

(B) (A) is correct, but (R) is not
correct.

(C) Both (A) and (R) are incorrect.

(D) Both (A) and (R) are correct,
but (R) is not the right
explanation of (A).

41. Match the following items of List — |

and List — Il in terms of functions of
commercial banks :
List— 1 List— 11
(a) Letter of (i) Advancing
reference loans
(b) Sale of gold (ii) Receiving
coins deposits
(c) Recurring (iii) Non-banking
Account function
(d) Overdrafts  (iv) Agency
function
Codes :
@ (b) () (d)
(A) (i) (i) (i) (iv)

(B) (iv) (iii) (i) (i)

(©) (v) (i) (i) (i)

(D) @) (i) (i) (v)
Paper-11
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42.

43.

44,

Which of the following are included

under representation functions of a

bank ?

(i)  Payment of cheques and bills

(if)  Providing remittance facilities

(iii) Underwriting of securities

(iv) Advancing clean credit

(v) Allowing overdrafts on current
account

(vi) Purchase and sale of securities

Codes :

(A) (i), (i), (iii) and (iv)

(B) (iii), (iv), (v) and (vi)

(C) (i), (i), (iii) and (vi)

(D) (i), (iii), (v) and (vi)

Call money rate is applicable for a

very short period to

(A) Inter bank advances

(B) Bank to Reserve
advances

(C) Reserve Bank to Bank advances

(D) Commercial Banks to
Industrial Banks advances

Bank

Match the following List — | with
List—1I1:

List— 1| List—11
(Name of (Type of
Securities) Securities)

(a) Bonds of (i) Semi-
Land Government
Development Securities
Banks

(b) Treasury (if) First Order
Bills Securities

(c) Sharesofa  (iii) Personal
Public Ltd. Securities
Co.

Codes :

@ (b) (o)

(A) (1) (i) (iii)

(B) (i) (i) (i)

(C) (i) (i) ()

(D) () (i) (i)

D-08-13



40.

41.

ANfpeA (A) : =TS T H,
9o AR SR Hifdeh STameReT &
ITITAT & T U0 LT FAed I
& 37 W SR R ST e € |

FRU(R) :Sw9 THEEG & A
MW HHERI  gHIT 3=

ScAIEeRdT bl MR T |

%< .

& -

(A) (A) 3R (R) 3 W& & &R (R),
(A) =l &l =TT |

(B) (A) Wl &, == (R) W&l F&l & |
(C) (A) 3R (R) g Tora € |

(D) (A) iR (R) I @&l &, T (R),
(A) =l T& =T T E |

gEt - | B g - || | etk St &

HE T qrafud w1 ! G F
=it - | =t - 1

(a) HEH T (i) o1

(b) @l & fa=nt (i) ST AT ure
EAREED FHAT

(c) 3Trer @

(d) 3TeRgT
EILIEED))

(iii) TR-SifRTT
(iv) TS

@ () () (@
(A) () (i) (i) (iv)
(B) (iv) (iii) (i) (i)
(€) (v) (i) (i) (i)
(D) () (i) (i) (iv)
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42.

43.

44,

ffeiaa & @ ®9 § d% % uiam
AT § 1 G {6 ST € 2

() = Ud fauEt 1 P

(i)  ToT Gferemd URT AT

(i) Wit 1 SR

(iv) STIAE! 0T T

v) ?;g @A W SAtfasy A
(vi) Uit =t sha 3T foshar

ETE

(A) (), (i), (iii) 3T (iv)

(B) (iii), (iv), (v) 3 (vi)

(©) (), (i), (iii) 3T (vi)

(D) (i), (iii), (v) 31 (vi)

Sty §e7 X 9gd A 6y & ford

frferfaa & amet & SrygEE €

(A) 3RS H/SER

(B) <% ¥ RTd S T 31H/3uR

(C) f5id 5% @ &% i AH/3UR

(D) afortsorek Siehi & 3fenfiTen Sfeht ol
SUR

frefefad get — | & gt — || & 9
FATdT Y

=i - | =it - 11
(@faferat &t @ttt &t
M) UhN)

(a) g fom (i) FTE-TER
el & THIT Tt
(b) ST fereet (ii) weore hife i
(c) weSH®  (iii)Jafws

&% 379
A

@ (b)) (o)
(A) () (i) (i)
(B) (i) (i) (iii)

(€ () @) ()
(D) () (i) (i)
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45.

46.

Reserve Bank of India controls the
activities of some of the following
banks in India :

(i)  Commercial Banks
(i)  Cooperative Banks
(iii) Foreign Banks

(iv) Rural Banks

Codes :

(A) (i), (i) and (iii)

(B) (i), (iii) and (iv)

(C) (i), (ii1) and (iv)
(D) (i), (i), (iii) and (iv)

Match the following List — | with
List — Il and select the correct answer:

List—1 List - 11

(@) Comparative (i) Gottfried
Cost Theory of Haberler
International
Trade

(b) International
Trade Theory
of Opportunity
Cost

(c) Factor
Endowment
Theory of
International
Trade

(d) Doctrine of
Reciprocal
Demand

Codes :

@ () () ()
(A) (i) (i) (v) ()
(B) (@) (i) (i) (v)
(€ (i) () (v) (i)
(D) (i) () (iv) (i)

(i) J.S. Mill

(iii) David
Ricardo

(iv) Hecksher-
Ohlin

47.

48.

49.

50.
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Identify the one, from the following,
which is not a type of disequilibrium
in the balance of payments of a
country :

(A) Cyclical disequilibrium
(B) Secular disequilibrium
(C) Structural disequilibrium
(D) Sectoral disequilibrium

The participants who take advantage
of different exchange rates in
different markets are

(A) Speculators
(B) Arbitrageurs
(C) Hedgers

(D) Investors

Assertion (A) : The liability of the
option buyer is limited in the
currency options market.

Reason (R) : Option buyer need
not exercise the option if the
exchange rate is not favourable
for him.

Codes :

(A) (R)iscorrectand (A) is wrong.
(B) (A) is correct and (R) is wrong.
(C) Both (A) and (R) are correct.
(D) Both (A) and (R) are wrong.

An MNC that maintains a balance
between the home market and host
market oriented policies is

(A) Ethnocentric firm
(B) Polycentric firm
(C) Geocentric firm
(D) None of the above
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47.

48.

49.

50.

45, IR e 9 wra | fEfatad s g
T P I AT i Faf=d e €
(i) @orsge S
(i) TEPN S
(iii) faseh
(iv) TTHIOT S
&<
(A) (). (ii) 3R i)

(B) (i), (iii) 3 (iv)
(C) (i), (iii) 3 (iv)
(D) (), (i), (iii) 3 (iv)
46. g — | g — |1 % Ty gHfera H
3R W&l X T =5 Y
= - | = - 1
(a) SFRTEE =MR (i) TiehEe
bl JeAIcHeh
GIIGAFAES)
(b) ST T H (i) U9, et
TR AT
g
(c) i =R (jii) e et
T HRF el
g
(d) TRETHTH  (iv) THIR-
g 3t
%
@ (b () (d)
(A) (i) (i) (v) (i)
(B) (i) (i) (i) (iv)
(C) (i) (1) (iv) (i)
(D) (i) (1) (iv) (i)
D-08-13
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I & A T | ST T THR
frefefad & @ S @ @ € 2

(A) THE STEI
(B) TeR=ml sTa=qe

(C) EIEATHS <o

(D) &g ST=Ie

firT IRy ° T ol <0 & s

I H UIAHTT 33 & 2
(A) wEfE

(B) weEXX

(C) o&RH (S

(D) TR

Afpe (A) : HA ahed (3TF)
TR H faehed @RI’ &l Tl
HifAd et € |

FHRT (R) ;A ot ma 3X fashed
(ST) el & 3FPA & & A
39 Toehed (3T@F) T STANT
& eI TEl |

ETE
(A) (R) W& & 3R (A) Tod § |
(B) (A) W&l X (R) Toid ¢ |
(C) (A) 3R (R)SHI W € |

(D) (A) 3R (R) 31 TToid & |

TE SRR AR ASEE ISR ST
Hft & dF W AT @ arel

THUAH. (TG HHAT) T HeATd]
g2

(A) T i BH
(B) g HFs®H wH
(C) 9-HFs® wH
(D) S H § g el
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